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PART - A

English Knowledge SO 6T T

1. Which are the verbs in the list given 4. Arrange the following sentences in a
below? proper sequence-
(@) Agra (@) Ravi Varma was an ordinary boy.
(b) Run (b) He bought some colours and
(c) Sleep canvas and started painting.
(d) Faint (c) He saw a beautiful painting and
(e) Jump was highly inspired.
A. (a), (b), (), (d) (d) ]Icn his Later Itife he became a

amous painter.
E' (Z)’ ©), (g)’ (e) (e) He also wanted to paint.
PR A @, (), ©). @), ()
Lo B. (c), (d). (e). (b), (a)

C. (a), (c), (e). (b). (d)
D. (d), (b), (), (a), (e)

2. Which are the Nouns in the list given 5. Match the following-
below? Column-I Column-I1
(@) Cat (@) Although  (I) Preposition
(b) Table (b) Slept (1) Noun
(c) Comb (c) Beneath (1) Verb
(d) Fast (d) Gold (V) Conjunction
(e) Bottle A. a-ll, b-1, c-1V, d-1ll
A. (@), (b), (c), (e) B. a-l, b-Il, c-1l, d-1V
B. (b), (c), (d), (e) C. a-lll, b-ll, c-1V, d-I
C. (c), (d), (), (b) D. a-IV, b-ll, ¢-1, d-1I
D. (d), (a), (b), (e)

3. Use the correct conjunction to join the 6. Use the correct form of verb in the
two sentences. blank space.
() 1am hungry. The boys ----- in the field.
A. But B. Or C. areplayed D. are playing
C. Unless D. So
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7. Add the correct Preposition.

Few friends met me ----- the airport.
A. at B. on
C. in D. over

Arrange the following sentences in a

proper sequence-

(a) The mangoes were very sweet.

(b) Over the years it grew into a huge
tree.

(c) The tree was laden with ripe
mangoes.

(d) He watered it every day.

(e) Ram planted a mango sapling.

A. (a), (b), (e), (d), (c)
B. (e), (d), (), (), (a)
C. (), (b). (d), (a). (e)
D. (e), (c), (d), (b), (a)

For the below Assertion (A) and
Reason (R) choose the correct
alternative-

Assertion (A): Cows give us milk.
Reason (R): Milk is reach in calcium.

A. Both Assertion (A) and Reason
(R) are true, but Reason (R) is not
the correct explanation of
Assertion (A).

B. Assertion (A) is true, but Reason
(R) is false.

C. Reason (R) is true, but Assertion
(A) is false.

D. Both Assertion (A) and Reason
(R) are true, and Reason (R) is the
correct explanation for Assertion
(A).

10. Use the correct article.

11.

12.

Ravi has ----- very old car.
A. a B. an
C. the D. None of the above

Choose the correct active form of the
sentence.

The grass is being cut by the
labourers.

A. The labourers cut the grass.

B. The labourers were cutting the
grass.

C. The labourers had cut the grass.

D. The labourers are cutting the
grass.

Identify the sentences that are

correctly converted into indirect

speech.

(I) Direct : He said, “I am going to
the market.”
Indirect : He said that he was
going to the market.

(1) Direct : She said, “I will help
you.”
Indirect : She said that she
would help me.”

(111) Direct : They said, “We have
finished our work.”
Indirect : They said that they
have finished our work.

(IV) Direct : They said, “We are
leaving now.”
Indirect : They said that they
leaving now.

A. (Dand (1I1) B. (1) and (IV)
C. (Dand (V) D. (I)and ()
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13. Change the following sentences 15. Arrange the following sentences in the

(Column-I) so that the verbs will be in correct order to convert the active

the Passive Voice (Column-Il) and voice to passive voice.

match the following- Active Voice : The teacher explains
Column-I the lesson.

(@ We saw you and him. (@ The lesson

(b) He keeps me waiting. (b) is explained

(c) 1 bought the baby a doll. (c) by

(d) He told me to leave the room. (d) the teacher
columrl A (@, (@), (). (&)

() I'was told to leave the room.
() A doll was bought for the baby. B. (@), (). (). (@)
(111) 1 am kept waiting. C. (a), (b), (d), (c)
(IV) You and he were seen by us. D. (c), (@), (b), (d)
A. a-1V, b-lll, c-11, d-I
B. a-ll, b-11l, c-1V, d-I
C. a-ll, b-ll, c-1, d-IV
D. a-l, b-Ill, c-11, d-IV

14. Choose the direct speech conversion 16. Scenario : John aced his mathematics
for the given indirect speech sentence. exam and solved all the problems with
She said that it might rain that night. ease. His teacher described him as a
A. She said, “It may rain tonight.” very smart student.

Question: Choose the synonym of the

B.  She said, "It should rain tonight.” word “smart” as used in the context of
C. She said, “It will rain tonight.” John’s abilities.
D. She said, “It can rain tonight.” A. Ignorant

B. Astute

C. Clumsy

D. Inept
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17. Here is a list of descriptions of some 18. Here is a list of descriptions of some

people. people.
() A person who studies the stars () A person who is a specialist in
and planets. the field of physics.
(1) A person who studies the mind (1) A person who loves mankind and
and behaviour. works for their welfare.
(1) A person who designs buildings. (111) A person who collects or studies
(IV) A person who sells medicines. stamps.
Choose from the given list the correct (IV) A person trained in the art of
one-word substitution. healing.
- Architect, Choose from the given list the correct
- Astronomer, one-word substitution.
- Pharmacist, - Physicist,
- Psychologist - Philanthropist,
A. I-Architect, - Philatelist,
I1-Astronomer, - Physician
I11-Pharmacist, A. |-Physicist, II-Philanthropist,
IV-Psychologist I11-Philatelist, I'V-Physician
B. I-Architect, B. I-Philatelist, 11-Philanthropist,
I1-Psychologist, I11 Physicist, IV-Physician
11-Astronomer, C. I-Philatelist, I1-Philanthropist,
I\V-Pharmacist I11-Physician, IV-Physicist
C.  I-Astronomer, D. I-Philanthropist, 11-Philatelist,
|1-Psychologist, I11-Physician, IV-Physicist
[11-Architect,

IV-Pharmacist
D. I-Psychologist,
I1-Pharmacist,

I11-Architect,
IVV-Astronomer
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20462-HCCG-BMU-REC-M 6 44 Set A




19.

20.

Scenario : Rajesh spends most of his
weekends volunteering at various
charity events and helping those in
need. His friends often describe him as
someone who has a great love for
humanity.

Question : Choose the correct one-
word substitution for “a person who
loves humanity” as used in the context
of Rajesh’s personality.

A. Misanthrope
B. Philanthropist
C. Egocentric
D. Altruist

Scenario : The room was filled with
bright sunlight in the morning, making
everything look cheerful and lively.
However, as the sunset, the
atmosphere changed drastically.
Question : Choose the antonym of the
word “bright” as used in the context of
the room’s atmosphere changing.

A. Dim

B. Radiant
C. Luminous
D. Clear

21.

22.

Scenario : Emma was preparing a
report for her English class. She knew
it was crucial to use the correct
spelling for each word to make a good
impression.

Question : Identify the correctly
spelled words that Emma should use
in her report.

A. Occurrence, Embarrass
B. Occurrance, Embarass
C. Occurrence, Embarass
D. Ocurrence, Embarrass

Scenario : Sarah is writing a formal
email to her professor. She wants to
ensure all her words are spelled
correctly to maintain a professional
tone.

Question : Pick from the list the
correct spellings given below-

(D Accommodate

(1)  Separate

(1)  Receit

(IV) Definitely
(V) Accomodate
(V1) Seperate
(VI1) Receipt
(V) Definately
A. V1L VIL VI
B. L VLIIIV
C. LILVILIV
D. V, I, VII, IV
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23. Scenario : Despite his strong will and
determination, Jacob felt his resolve
starting to crumble under the immense
pressure of the situation.

Question : Choose the antonym of the
word “strong” as used in the context
of Jacob’s resolve.

A. Fragile B. Powerful
C. Robust D. Sturdy

24. Scenario : The ancient castle stood in
the cold, Desolate landscape, its old
walls whispering tales of a bygone era.
However, with the arrival of spring,
the surroundings transformed
dramatically.

Question : Choose the antonyms of the
words “old” and “cold” as used in the
context of the castle and its
surroundings.

A. New, Warm
B. Young, Tepid
C. Modern, Scorching
D. Fresh, Cool
25. Scenario : Maria just received a
promotion at her job, and she feels
extremely happy about it.
Question: Choose the synonym of the

word “happy” as used in the context of
Maria’s emotions.

A. Elated

B. Dismal

C. Melancholic
D. Sorrowful

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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PART - B

Knowledge of Computer
Operation

26. What is the full form of ‘ALU’?
A. Arithmetic Larg Unit
B. Algebraic Logic Unit
C. Ascii Logic Unit
D. Arithmetic Logic Unit

27. Arrange the following storage devices
in order of increasing the speed.
@ RAM
(b) Solid state drive
(c) Cache Memory
(d) Hard Disk Drive
(e) Optical Disc

A. (e), (d), (a), (b), (c)
B. (d). (&), (), (), (c)
C. (d), (e), (8, (), (b)
D. (e), (d), (b), (a), (c)

FHTEE T A

26. ALU’ T QU A H1 87

27.

A. feemfes @ gfie
B. TcSIfsieh Al FHe
C. SRl HiiSeh (T
D. Ufcriifess wiifor afte

et T2 T =it feasat sh 3o sigd

T o SFH § SFaferd shi
(@ W

(b) Wifers &2 gr3al
(c) S HHRY

(d) e fowr grza
(e) 3ifteehat feth
A. (o). (d), (@), (b), (¢)
B. (d), (e), (b), (), (c)
C. (d). (e), (a), (), (b)
D. (e), (d), (b), (a), (c)
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28. A program written in ------- isa
collection of bits and a program
written in -------- uses the symbolic
representation of machine codes.

A. Machine Language, High Level
Language

B. Assembly Language, Machine
Language

C. High Level Language, Machine
Language

D. Machine Language, Assembly
Language
29. “Python’ is a/an ------ .
A. Operating System
B. Programming Language
C. Web Browser
D. Input Device

28. - ¥ foran T i fored 1 e 9
g, 3T T fetam mar s 93 e
o TefterTcHeh Tfafafrea a1 U= Lt Rl

29.

A. HIIIF 99T, 35 & 9T
B. 1ot vTST, TSf SIS
C. 3= &L TSI, AT WINT
D. HIf W97, 3] {7
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30. What is the correct chronological 30. fr=forRaa urgshramee faes eftafen
order of the following MS Windows fireey ¥ GEHTOT T URT TSR

operating system versions?

. T B2
(@ Windows XP :
(b) Windows Vista (a) forrer ey
(c) Windows 2000 (b) foerst fereer
(d) Windows NT (c) TSt 2000
(e) Windows 7 ) fes e
A. (a), (b), (c), (d), (e) 0 FEw7

B. (d). (). (a). (e). (b)
C. (d), (). (a). (), (e)
D

A. (a), (b), (¢), (d), (e)
. (@), (c), (d), (b), (e) B. (d), (c), (a), (e), (b)
C
D

- (d), (¢), (a), (b), (¢)
- (a), (¢), (), (b), (e)

31. The speed of a super-computer is 31, YoR-AHFRL H T - T ATt STt 2

measured in ------ : A. IPS (i)

A. IPS

B. MIPS B. MIPS (CHoTTee)

C. GPS C. GPS (Sfrites)

D. FLOPS D. FLOPS (ThUASTHTH)

32. Which unit of a ‘CPU’ controls the 32. “CPU’ T %I |1 Hgeh, Hye foreen o
activities of all other units of the T I F e o1 e e 22
computer system?

A. ALU A TR

B. Memory Unit B. ﬁnﬁﬁq\ﬁz

C. Control Unit C. i gfe
D. None of the Above D. =8 4 i Tat

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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33. Which of the following is/are types of
impact printer?
(a) Laser Printer
(b) Daisy Wheel Printer
(c) Drum Printer
(d) Inkjet Printer

A. (a) and (b) only
B. (b) and (c) only
C. (b), (c) and (d) only
D. (a) and (c) only

34. Match the following-
Column-I
(a) Firefox
(b) Internet Explorer
(c) Safari
(d) Chrome
Column-11
() Apple
(1) Mozilla
(1) Google
(1V) Microsoft

A. a-ll, b-1V, c-I, d-111
B. a-l, b-1V, c-IlI, d-1lI
C. a-ll, b-lll c-l, d-1V
D. a-1V, b-1ll, c-Il, d-I

33. =1 4 9 % g1/ se fiet 1 Thr 22

(a) oo fieX

(b) Ssft et fifex

(c) g i

(d) $esie fiiet

A. Fad (a) 3T (b)

B. ad (b) 3 (¢)

C. &ad (b), (c) 3R (d)
D. %ad (a) 3T (c)

34. faefafiad s faemi-

g1

(a) BRITh

(b) T THAAIT

(c) HHH

L
gefl-11

I T

(1) wfSer

(I11) 1A

(IV) HREShIETRE

A. a-Il, b-1V, c-1, d-11I

B. a-L b-1V, c-II, d-1II

C. a-l b-1II, c-1, d-1V

D. a-IV, b-III, c-I1, d-1
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35. There are two statements marked as

Assertion (A) and Reason (R). Read

them carefully and select the correct

answer as per codes provided below-

Assertion (A) : The Random Access

Memory (RAM) is used to store data

and instruction during the operations

of computers.

Reason (R) : ‘RAM’ is ‘non-volatile’

memory.

A. Both Assertion (A) and Reason
(R) are True and Reason (R) is a
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are True, but Reason (R) is not
a correct explanation of Assertion
(A).

C. Assertion (A) is True, but Reason
(R) is false.

D. Assertion (A) is false, but Reason
(R) is True.

35. a1 e, ANTH (A) 3T HRT (R) & T

B reifehd 3 TR B ST heAT

SAYelsh UfgU SR H2l hl Ferdl § Hel

I -

Al (A) - Teu teE 1O (RAM)

T IURATT HFLT o TATeH o SR ST

3R fden ot wwEia e o fore fomam strm

2

T (R) : ‘RAM’ Tah AH-aleiezer

o 2

A. AN (A) 3T FHRT (R) THT T
2, T T (R), AU (A) it Tt
AT |

B. A (A) 3T RN (R) SHT T
2, A RO (R), AR (A) i
el ST L 2

C. T (A) T 8, AAfeh 1T (R)
A 2

D. SANYHUT (A) I B, ATHT HROT
(R) TF 2|
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36. Which of the following service is not 36. fr=forRaa o @ & ©f Qe soaes

provided by electronic mailing Uit foeey & qreay ¥ 3uctsy g =idl
system? 39
A. Composing )
. A. FEIIfST
B. Transferring .
C. Reporting B. i
D. Web Surfing C. fofén
D. 39 @i
37. Match the following- 37. ffafaa = fiem-
Column-I =il
(a) Firewall o
BRIEA
(b) Nimda @ *®
(c) Telnet (b) 31
(d) Microsoft Edge (c) Tee
Column-II (d) R UST
Q) Protocil used to connect to other T
computer = N N
(1) A Proprietary cross platform M gﬁfwc\aa%% % fere
Web browser STkt
(111) Computer virus (1) SSITTE Sh1T TAHTH el SITISK
(v) Protelft computer from hacker (I1I) TP AR
attac .o
(IV) I I Y o TA § a1
A. a-l, b-lll, c-l, d-1V
B. aIV. b-lll, ¢l d-11 A. a-L b-I11, c-11, d-IV
C. a-ll, b-l, c-lll, d-1V B. a-1V, b-III, c-1, d-1I
D. a-lll, b-1V, c-IlI, d-I C. a-Il, b-l, c-I1I, d-IV
D. a-Il, b-1V, c¢-1II, d-I
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38. Which shortcut key (s) is/are used in

39.

spreadsheet to open the search box or
Find and Replace dialog box?

(@) Shift+F5

(b) Alt +F

(c) Ctrl+F

(d) Shift + F2

Select the correct answer from the
following options-

A. Only (c)

B. (a), (b) and (d) only

C. (a) and (c) only

D. (a) and (b) only

Which file format are not used to store
video files?

A. MOV
B. WEBM
C. BMP
D. FLV

38. wiexfie # i i Fifdehe shsit T 3TFNT

39.

T St A1 BTES 3R i SRt s
ol WieH & fote foham Strar 22

(a) Shift +F5

(b) Alt+F

(c) Ctrl+F

(d) Shift+F2
FrefeRad foeredt & & w8t 3 -
A. F (c)

B. &dad (a), (b) 3 (d)

C. &ad (a) 3 (¢)

D. %ad (a) 3T (b)

forgia wrget 1 G s & e
fafafgd § 9 19 9 wEd BiHe

ST T foRa ST 22
A. MOV (TgaTidt)

B. WEBM (Sscggsiiun)
C. BMP (sfiuHdt)

D. FLV (ThuET)
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40. Which of the following is not anti-

41.

virus software?
A. Avira

B. Kaspersky
C. Norton
D. Oracle

Arrange the evolution of audio
storage.

(a) A flat Vinyl record

(b) C.D.

(c) Edison Cylinder Record

(d) Cassette Tape

(e) Reel to Reel Magnetic Tape

A. (a), (), (d), (b), (e)
B. (b). (a), (c), (d), (e)
C. (), (a), (), (d). (b)
D. (d), (), (e). (), (c)

40. ffafigd § 9 =19 91 i-ar—E
RIS T8 272

A. JAfRT
B. HEUEH
C. A
D. 3A&ha

41. HTERT YR o forehe shl sgafeerd wi

(2)
(b)

et fommset e
GiAsH

ugte fheiet ferte
FT 3T

Tt 2 Tt wredten ou

- (a), (¢), (), (b), (e)

- (0, (2), (e), (d), (b)

A
B. (b), (a), (¢), (d), (¢)
C
D

- (), (b), (e), (a), (¢)
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42.

43.

For the below Assertion (A) and
Reason (R) choose the correct
alternative

Assertion (A) : A web browser acts as
an interface between a user and the
world wide web.

Reason (R) : A user can navigate files,
folders and websites using links on the
web pages created with HTML.

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is a
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true and Reason (R) is not
the correct explanation of
Assertion (A).

C. Assertion (A) is true, but Reason
(R) is false.

D. Assertion (A) is false, but Reason
(R) is true.

Which device can not be used to work
in MS-Office?

A. Scanner
B. Mouse

C. Light Pen
D. Joystick

42.

43.

e fow T arfirererT (A) 3T FROT (R) &

AANFHAT (A) : Teh AT SIS SUATHAT

R forgeamdft o o it Weh SS0hH & &9 H

T T 2

SHTIT (R) : Uh SUANTShdT SHTT 7T o Ui

T ook T ST ek HIsed, Hieed 31T

JSETE! T AferE T HehelT 21

A. IMFHAT (A) 3R HROT (R) SHT Tl
2, 3T HIT (R), ATHAT (A) i &
AT 2

B. AN (A) 3T RN (R) SHT G
2, 3T HET (R), ATHAT (A) il T
AT T 2

C. HfeRe (A) B& 3, Foheq 10T (R)
TTeTd 2l

D. feRed (A) 7T &, Foheq 1T (R)
a2 2l

19 91 fearey waug-Aifha § M w4 &
foTT =T 1€t femar sman?

A. TFR
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44.  Arrange the following steps for

45.

sending messages and attachment

confidentially in Gmail on E-mail

(computer only).

(a) Set an expiration date and
Passcode.

(b) Save

(c) On your computer, go to Gmail.

(d) Compose

(e) Click Toggle Confidential Mode.

A. (d), @), (b), (c). (e)
B. (b). (c). (a). (e), (d)
C. (), (d). (&), (a), (b)
D. (a), (b). (&), (c). (d)

Which of the following are the

disadvantages of computer virus?

(a) It can steal the valuable data of
your computer.

(b) It disables some of your operating
system setting.

(c) It prevents online Hackers and
Scammers.

(d) It can display pop-up ads on
computer desktop.

A. (a), (c) and (d) only

B. (a), (b) and (d) only

C. (b) and (c) only

D. (a), (b) and (c) only

44. ST H Hawr R STEFHE I M &7 &

45.

WS o 1T (et shvepey) fmfariad
=TT Rl ST

(a) T faeft 3K ureente fetfa 1)
(b) TTH

(c) U FHFRL T SHA 1 ST

(d) AT

(¢) NI U W foreAah i

A. (d), @), (b), (c). (e)
B. (b). (c). (a). (), (d)
C. (c). (d). (e). (a). (b)
D. (), (b). (&), (c). (d)

frefeTRad ® & 9 | et e

THE 87

(a) I8 HTIeh YL T TGHH ST U
T B

(b) ATqfET fereem Afém =t 3780 KT ar
H

(c) F® AT Toht HATT THAT hi Tehell
H

(d) I SRS TR HT9-3T forqmae
e f3Td o HehaT &

A. Fad (a), (c) 3 (d)

B. %dd (a), (b) 3T (d)

C. ad (b) 3 (¢)

D. &ad (a), (b) 3 (c)
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46. Arrange the sequence of storage unit 46. TS g2 I S@d sHH o ST H e

in ascending order. eS|

(@) Kilo Byte

(b) Mega Byte @) et
(c) Byte (b) g

(d) Gega Byte (c) ®M=E

A. (a), (b), (c), (d) ORLLELS

B. (b), (c), (d), (a) A. (a), (b), (c), (d)
C. (c), (), (b), (d) B. (b), (c), (d), (2)

D. (a), (b), (d), (c) C. (c), (a), (b), (d)

D. (a), (b), (d), (¢)

47. What is the storage capacity in C.D.? 47. Y. €b. it ST &THaT T 82

A. 700 GB A. 700 GB
B. 700 KB B 700 KB
C. 700 MB
C. 700 MB
D. 900 MB
D. 900 MB
48. Avrtificial Intelligence is- 48. Srfefhimre eforerd o-
A. Playing a game on computer A, FFEIE I T AT
B. Creating a machine Intelligence B. 5fi sxfeqaid o1 il

C. Programming on computer with
your own Intelligence

C. ot Sforster & shPeget ox St
h{AT

D. S0 FI5 Tal

D. None of the above
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49. Which is not a search Engine?
(@) Infoseek
(b) Google
(c) Internet Explorer
(d) AltaVista

A. Only (a)
B. Only (d)
C. Only (a) and (c)
D. Only (c)

50. Match the following-

Column-1

(@ CD-R

(b) DVD-ROM

(c) CD-RW

(d) DVD-RW
Column-1I

(I)  Write Once read many times
CD.

(1) Rewriteable DVD and can be
erased, changed.

(1) Is a read/write a compact disk.

(V) A read only DVD memory is
used to store the files
permanently which can not be

changed.
A. a-l, b-ll, c-lll, d-1V
B. a-l, b-1V, c-Ill, d-11
C. a-lll, b-1V, c-1, d-ll
D. a-lll, b-11, c-I, d-1V

49.

50.

TTH O i T o1 el 87
(a) SHIEH

(b) T

(c) 3T T
(d) oFeerfeReT

A. & (a)

B. %ad (d)

C. %ad (a) 3 (c)

D. %ad (c)

frfaRaa =1 firet-
g1

(a) WEE-3AR.

(b) S -Tm

(c) WS- sy

(d) SrEl-sesey
fa

(1) U oK forat &3 o) ver €t 2.

(1) : T Ay SR e o sgen
ST €1t g,

(111) Torem 31 ygAaret wride fowr.

(IV) Tl ol TRl &9 8 TUEid 3 &
T Faret ue I €t g TEe
T TN foraT ST €, forer sree et
ST el

a-1, b-11, c-III, d-IV
a-1, b-1V, c-11I, d-1I
a-111, b-1V, c-1, d-11
a-1I1, b-11, c-1, d-IV

o o w >
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44 | SET A

IR 3ifehd o T EET 01 et fereRam 37eh : 50
Time for making answers : 01 Hour Maximum Marks : 50
e :

1. 39y gfae & e R i)

2. O U TA HATAFTR R |

3. T % I, € T OMR IT-311E (riawsiie) W sifera i |

4. HUTCH: HodTeh T8l foRaT ATeRT |

5. TordT off TXE % SheTehoteX T AT ¢St Ual WIATSeA Wi T T A § |

6. OMR IT-Y (TTEI(IE) T TANT hid THT THT hIg SETAUATH T

T/ O Ig e T IT I0H /I T ferae antfe ug W fraes
THela®y 9 TR & 9 |

g 7T / fawat ht foeqa Sehtdt |

"

o=

<)

ST /T {

q

hFI Rl AT

Note :

orwdPE

o

This question booklet contains of following subjects —

All questions are compulsory.

Indicate your answers on the OMR Answer-Sheet provided.

No negative marking will be done.

Use of any type of calculator or log table and mobile phone is
prohibited.

While using OMR Answer-Sheet care should be taken so that the

Answer-Sheet does not get torn or spoiled due to folds or wrinkles.

Details of Parts/Subjects :

Part | Subject
A | English Knowledge
B Knowledge of Computer Operation
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